NAAMS F =

NAAMS Products

LuBo Industries, Inc.



oI EH

LuBo

Guide Blocks

EAE
#500CS(SM45C+Graphite)

HF2|
- X2 A He EH D AR 2| (HRC 50~)
-2E & 72t4 3X}: £0.25
- X2 HEE E 2HA BxF: £0.10
- BMalel 2u}7| : CO0.4
G01 & 02 Series
L - - H o

0 o I N e
E S N ,/ \ ; ]
/\’ 0.8 ‘A} ‘A\ ‘A\
F ‘ v ¥ XXX
‘ A I —
[a]
Brrores SOC. HD. SO
(N)Holes
| Jo.025] A]
L} Gra_phite Plugs
o this Surface
A
L 0.8 ‘
E T3
N o000 1 =
— 0000 A

[ LuBo NAAMS ZE

> B3 HEEH
= =

-

6l) 45mm % : LB G014007
60mm = : LB G025007

LuBo Industries, Inc.




LuBo

B GO01 Series (45mm =)

LuBo NAAMS A=

LB G014007
LB G014010
LB G014012
LB G014015
LB G014017
LB G014020
LB G014022
LB G014025
LB G014507
LB G014510
LB G014512
LB G014515
LB G014517
LB G014520
LB G014522
LB G014525
LB G015007
LB G015010
LB G015012
LB G015015
LB G015017
LB G015020
LB G015022
LB G015025
LB G016007
LB G016010
LB G016012
LB G016015
LB G016017
LB G016020
LB G016022
LB G016025
LB G017507
LB G017510
LB G017512
LB G017515
LB G017517
LB G017520
LB G017522
LB G017525

HOLES
(N)

2

75
100
125
150
175
200
225
250
75
100
125
150
175
200
225
250
75
100
125
150
175
200
225
250
75
100
125
150
175
200
225
250
75
100
125
150
175
200
225
250

63
73
83

63
73
83

63
73
83

63
73
83

63
73
83

50.5
63
75.5
113

50.5
63
75.5
113
128
153

50.5
63
75.5
113

50.5
63
75.5
113
128
153

50.5
63
75.5
113
128

38
63
88
113
138
163
188
213
38
63
88
113
138
163
188
213
38
63
88
113
138
163
188
213
38
63
88
113
138
163
188
213
38
63
88
113
138
163
188
213

51
76
101
126
151
176
201
226
51
76
101
126
151
176
201
226
51
76
101
126
151
176
201
226
51
76
101
126
151
176
201
226
51
76
101
126
151
176
201
226

33

I0IE EH

Guide Blocks

H J w
40 15
45 25
50 45
60 30
75

LuBo Industries, Inc.



Jio|E == LuBo
Guide Blocks

W G02 Series (60mm =)

LuBo NAAMS TE "'(ONL)ES L A B ¢ D E F H J W
LB G025007 75 38 51
LB G025010 ? 100 e 7
LB G025012 125 - 50.5 88 101
LB G025015 3 150 63 113 126
LB G025017 175 755 138 151 %0
LB G025020 200 63 113 163 176
LB G025022 4 225 73 128 188 201
LB G025025 250 83 153 213 226
LB G026007 75 38 51
LB G026010 ? 100 e 7
LB G026012 125 - 505 88 101
LB G026015 3 150 63 113 126
LB G026017 175 755 138 151 *
LB G026020 200 63 113 163 176
LB G026022 4 225 73 128 188 201
LB G026025 250 83 153 213 226
33 48 30 60
LB G028007 75 8 51
LB G028010 ? 100 e 7
LB G028012 125 - 505 88 101
LB G028015 3 150 63 113 126
LB G028017 175 755 138 151 %
LB G028020 200 63 113 163 176
LB G028022 4 225 73 128 188 201
LB G028025 250 83 153 213 226
LB G020007 75 8 51
LB G020010 2 100 e 7
LB G020012 125 - 505 88 101
LB G020015 3! 150 63 113 126
LB G020017 175 755 138 151 100
LB G020020 200 63 113 163 176
LB G020022 4 225 73 128 188 201
LB G020025 250 83 153 213 226

LuBo Industries, Inc.



LuBo Ay Jpoj= ==

Corner Guide Blocks

HE
#500CS(SM45C+Graphite)

- 2AM2lel =] - C0.4

G11 Series
__ForM16SOC. .
HD. SCR. (2)Holes N 27>E
- L = H
D
716G6 -~ 2
(2) Holes
]

-
[ | e
A y) e e ®
0.8 I e
4 “3 bocoeoboecoeonbdobebobol XXX XXHXXX
| |0.025] B ‘ | Jo.025] A
< 32
© Breakall Sharp Edges —

0.4 X 45°Except as Shown
6x45° ——-— Surface Harden & Graphite Plu Lf
Chamfer Cross-Hatches Areas ’:\'
=]
=
x

LB G118007

LB G118010 100 25 35 40 55 80
LB G118012 125

LB G119507 75

LB G119510 100 40 50 55 70 95
LB G119512 125

LB G111207 75

LB G111210 100 65 75 80 95 120
LB G111212 125

| LuBo NAAMS ZE | m
=YY
V) o LBG118007 ==

Ml

LuBo Industries, Inc.



75mm'U' E= LuBo

75mm Wide Female 'U' Blocks

G21 Series 51266 & 16

C'Bore(2) Holes
Sramp o
Datum"Oaz ﬁ

50
A
B
c
! L
(4]
X
S
a,
B
)
1920
¥

\ Femail " U Block ./' 7710 0251A

7510.026 o =
For M12 SOC. HD. Al 3x45 || )
SCR(N) Holes Corners )
[ BYES|
SM45C gt e g
N
H 2 L D | Typical Section
i "U" & "V" Block Assembly

-XZFEH2 EHOFL A
(HRC 50~)
-EEE A 3 +0.12

: A veosesE)
ehaseu coe s WAANS e AT e e

- ZAMzle BitY|:CO.4

LB G217515
)| | LUBO NAAMS 2= | LB G217520 200 - 150 175 2
-/ o) LB G217515 LB G217525 250 125 200 225

LB G217530 30 150 250 275

75mm 'V' E
| 75mm Wide Male 'V' Blocks

LuBo

G22 & G23 Series
Graphite Plugs
12 G6 These Surfaces
(2) Holes on Mail Drive Only
Stam; S v 9 5% 45

oz ol

Datum"o:) O < o O _n\:"j u
\J o

37.5+0.013

Femail "V"Block
+0.026 \ = /1]0.025[A
A E 75 a = [/I] >

For M12 SOC. HD. orners g 3x45

#500CS = #500SP SCR(N) Holes
(SM45C EE= CAC304+Graphite)
/

H =9 T .
S|l

- Steel@l A= X2 AT Ho| D}t an |
i 1 N LO)|

i ©

oT
Grelst S LF%’ Typical Section
-2E & 2tA ZXl: £0.12 T T "U"&"V"Block Assembly
- xj2l WEE & 247 Zib: £0.10
- RBAMelel 27| C0.4
- ZE0M X= SM45C+Graphite

0J

(#500CS)
- 3AENAM YE SES+Graphite

(CAC304) LB G227515 LB G237515 100
zﬂ%’m | LuBoNAAMS ZE LB G227520 LB G237520 200 - 150 175
=) o) L 227515 LB G227525 LB G237525 250 125 200 225

LB G227530 LB G237530 300 150 250 275

LuBo Industries, Inc.



LuBo

125mm 'U' E=

125mm Wide Female 'U' Blocks

G31 Series TRATETS

Stamp 9w © <
Datum "0"/\| | © o o -
0
\

62.5 +0.013 j@E@
125 +0.026

3x45

Femail'U'Block ¢ ) [//]0.025]A
[For M16 SOC. HD. 90°
SCR(N) Holes All Corenrs ] ng
Q g SM45C
bt
) @ "U" & "V Block =2
R Assembly R -
-XEHYTH2 EHAFO BN
(HRC 50~)
~ FEMALE'U'BlocksSTEE) - =E S B4: 2012
- oA El—l E[f-Ul C0.4
LB G311215
2
LB G311220 200 - 150 175 =) | LUBO NAAMS 2=
T =1
LB G311225 250 125 200 225 . -/ o) LBG311215
LB G311230 300 150 250 275
1yl =
LuBo 125mm 'V EE'.|
125mm Wide Male 'V' Blocks
G32 & G33 Series Saces on ial Drive Oy
Stam|
atum o g‘ 8‘ <‘ m‘ (_)‘ 4
0 ‘ Lp
] ' .
2 -
=
62.5+0.013 . %
=l
125+ 0.026 S % [/o.025[A] | EME
[For M16 SOC. HD ggrrﬁ;lnl's 5x45 H 345 #500CS L= #5005P
OSCR(N)Hofes ~ /316 G6 (2) Holes (SM45C EE= CAC304+Graphite)
5C'Bore ] xo|
20 Deep © Bla
° - SteelQl Z2E= X2 s AT Mol 23
0" & "V Block < Fxz|sta -Erﬂ_ﬂl LR}
Assembly -2E & 72t4 ZX: £0.12
- Kt2| HEE & 244 X +£0.10

-B3Az|e| 27| C0.4

- A0 M X= SM45C+Graphite
(#500CS)

-AE0AM Y= SEZ+Graphite
(CAC304)

LB G321215 LB G331215 150

LB G321220 LB G331220 200 - 150 175

LB G321225 LB G331225 250 125 200 225

LB G321230 LB G331230 300 150 250 275 °

[ LuBo NAAMS ZE
o) LB G321215

E FEH
=

=%
-

LuBo Industries, Inc.



ME{ 9| J}O|E & ME{ J| LuBo

Center Key Guides & Center Keys

G41 & G42 & G43 Series

Center Key Guide (G41) Center Key (G42 & G43)
212 G6 212 G6
(2) Holes W
a D Y 1 D
[¢] P4 c A
Q1 |, c fol
oy R G
|
M12x1.75 Tap
Pullout Hole M12x1.75 Tap
(2) Holes Pullout Hole
— _ — (2) Holes
A ‘Gj A
=
For M12 ForM12
SOC. HD. SCR. 'SOC. HD. SCR.
"N" Holes 3 "N" Holes
50

25 25 [ f

50
+0.00 ‘ — I
Dowel | _45_[-0:02
Central 0 2018 8% Dowel
/1]0.02]A] 90*8-99 o[ Central

Graphite Plugs

L} ) this Surface
H 7 AN\ |
- & | 4 y[I[0.02]A ° ;
o = o
g f? ‘Af}\»} qQ Z? . &|Lube Area
87 3N < T
%ﬂ | 2R m.% ) [Jo.02]B]
— [o02]A | 0 | 20788 i0.028 | Y| _39.97+483
< Cent ‘
LuBo NAAMS IE=
mAE X v A B C D L [N
SM45C : Mg 7| 710|E
#500SP (SM45C+Graphite) : ME 7| LB G419020 - - 120 145 170 200 2
m =ol LB G419030 - 135 220 245 270 300 3
T LB G424020 LB G434020 - 120 145 170 200 2
- X2 A e EHOEL W2 (HRC50~)
_SE g 27 B 1025 LB G424030 LB G434030 135 220 245 270 300 3
- Rie| $EE & 248 X £0.10
- G42 M E2 X2 o &8 Mol YHalstn [ LuBo NAAMS R E

Graphite2 Of . FETHY
- IS0 M X= SM45C+Graphite (#500CS) "V o) LBG419020

- FAE0AM Y= CAC304+Graphite (#500SP)
LuBo Industries, Inc.



LuBo

Il EELE T

Guide Post Pins

G51 Series

4°TO6 LEAD(R20 OPTIONAL)

32, 40, 50 & 63 DIA. Guide Posts to have
M8>1.25-12 Long Thread ; 80, 100

& 115 DIA. Guide Posts to

have M12<1.75-18 Long Thread to Facilitate
Handling from Deep Freeze.

[©le0.008 [A
8 A
— R1 m‘l /jw
O, 0.4,
3 1 MXD
5 /\:y S
g /
4 0.5R R1
15 L3 L2
L1
Center Drill, Both Ends to
Manufacturer's Choice
. 10
‘ﬂ“ - 10 )
‘ 5 | \3/4°
BNEL 2 AN
\ \
View in Circle X View in Circle X
Oprional Construction
LuBo LuBo
NAAms 3= D1 D2 U1 12 13 Rl MxDp S Sl
LB G513214 140 L Coleial
LB G513216 160 . LB G516350
1B 6513218 °2 2 150 % M8 20 tg gg:zgz:
LB 6513220 200 LB G518031
LB G51401
6514016 160 e LB G518035
LB G514018 180 YCEEEiG
LB G514020 40 40 200 56 LB G518050
LB G514025 250 LB G511035
LB G515016 160 LB G511040
M10X25
LB G515018 180 LB G511050
LB G515020 200 LB G511140
LB G515022 50 50 225 70 LB G511150
LB G515025 250 LB G511240
LB G515028 280 LB G511245
LB G515031 315 10 25 LB/G511250
LB G516320 200 LB G511255
LB G516322 225 LB G511260
LB G516325 - LB G511265
5
x LB G511270
LB 6516328 5% 63 50 & M12X25
LB G516331 315
LB G516335 355
Bl
r=rr [ LuBo NAAMS R E | o _'—J;
-/ 0l) LB G513214
WAL T2 Y1)

=

mxE

SM45C (&M 11

D1

63

80

100

115

D2

63

80

100

115

125

I} Pxe| HRC50~)

L1 L2 L3 Rl MXDp

400
500
250
280
315
355
400
500

80 2.5 M12X25

100

oH-c [>of

355
400
500
400
500
400
450
500
550
600
650
700

125
3 M16X30

140

140

LuBo Industries, Inc.



THo|= 5

LuBo

| Guide Bushings

G61 Series <+——>
T0AIA] *ﬁ‘s 25 Wy
_ - - ﬁ\‘ 9
R11
o.o.o. £
©
g 3 z &
q < %’ J 8
2R
08
ol
[ PR 6
#500SP (CAC304+Graphite) e L2
L1
H =9
- 2SYUHECE NI 2LHYEA oY LuBo
- Teo 2U= IS ZZ(LE=TIHE) NAAMS 3= P! D2 D3 D4 LI 2 138 R
LB G613250 32 40 50 40 50 40 4 3
== | LuBo NAAMS R E LB G614063 40 50 63 50 63 50 5
T o= LB G615071 50 63 71 63 71 56 6 5
o) LB G613250
-/ D LB G616380 63 80 90 80 80 63 8 6
LB G618010 80 100 112 100 100 80 10 8
- LB G611012 100 125 140 125 125 106
FE2HM 10
LB G611114 115 140 155 140 140 120 12
LB G611216 125 160 180 160 160 132 12
HE 824 LuBo
| Pad Bushings
Lt G71 Series +—>
2 L2 2= upsy
. | I 5,
' \ 1.6
= i" . i 30&\ # _ =
‘' ]
“-i “ 4 ..‘...
E— - P 8 gco”
|| S LR a a
o a §
2R
0.6 K
mAE NE LA]  [C[gooz]a]
#500SP (CAC304+Graphite) L1
| JEe]]
L D1 D2 D3 L 12
- 2SYUYE AT 2LHY = 0HY NAAMS I =
~ Teo 2= IS ZI(HZAME) LB G713250 32 40 50 50 4
LB G714055 40 50 63 55 5
crer [ LuBo NAAMS R E LB G715063 50 63 71 63 6
-} o) LB G713250 LB G716375 63 80 90 75 8
LB G718090 80 100 112 90 10
E =oaar LB G711011 100 125 140 115 12
LB G711213 125 160 180 138 12

LuBo Industries, Inc.




LuBo

2y EQ BT

Bushing Toe Clamps

G72 & G73 Series A

Bushin:
Center I I
N\ =
Ve

6 |
\
S
C

0.4R

B LuBo NAAMS Z= G720000 M LuBo NAAMS ZE G730000

= =

32 34 451 32 35.5 48.4
40 40.5 516 40 42 54.9
50 445 556 50 46 58.9
63 54 65.1 63 55.5 68.4
80 65 761 80 66.5 79.4
100 79 90.1 100 80.5 934
115 86.5 976 115 88  100.9

125 1005 113.4

LuBo

B LuBo NAAMS ZE G720000
A=24.6
B=18.9
C=13
D=M8x1.25x20

B LuBo NAAMS Z £ G730000
A=27.9
B=23.5
C=15.5
D=M10x1.5x20

= [ LuBo NAAMS 2=
of) LB G720000

FETHE (
LB G730000

WAL FESZ:3M

Al

¢

Sy BEYe AT NS (2D) |

G72 & G73 Series

"A" Tap (3) Holes

D3 (0.D. of T T~
Buahing Shouler) ,/ -~ \\ Equally Spaced
’ - N4
7 - \
AY
\

N
[ N
b L V)
Tt + T
LY
\ ; 1
\\\\ \\ // I/I
N S~+-7 0y
\\ S~o —’///
~o -
B.C.

H Use with LB G720000 "A"=M8X1.25

D1 D3 B.C. (D3+18) D1
32 50 68 32
40 63 81 40
50 7 89 50
63 90 108 63
80 112 130 80
100 140 158 100
115 155 173 115

125

Bushing Clamping Procedures

oH-c [>of

H Use with LB G730000 "A"=M10X1.25

D3 B.C. (D3 +21)
50 71
63 84
71 92
90 111
112 133
140 161
155 176
180 201

LuBo Industries, Inc.



[ -

3P ASE

LuBo

Die Lift Pins

LO1 Series

Each Part to be Stamped
With Manufacturer's Logo
and Traceability Code

Springs Loaded

Retainer Ring

|
I | Z’I
4D

[ LuBo NAAMS 2=

o) LBLO13512

_IE A38 f
‘ B
c
LuBo NAAMS AE A B © D E
LB LO13512 35 125 165 45
LB LO15019 50 190 230 63 10
LB LO16328 63 280 320 76
LB LO18032 80 320 370 89 15

S¢UZE TS FX oY

LuBo

| Casting Liner for Die Lift Pin

o [>of

[ LuBo NAAMS 2=

FE2YY
-/ o) LBL115050

LuBo Industries, Inc.

L11 Series
Ct%ig |
C/2 Break Sharp Corners
0.2 Max. X 45 °

i 7
0 | | -
< o
Q Q|

_ll.ex 1DEEP
EQUIVALENT
LuBo NAAMS LIFT PIN A B c TUBE—INCHES
acE Dia. I.D O.D
O/S Dia WALL THK.

LB L115050 50 52 60 50 2-3/8 156
LB L116380 63 65 73 80  2-7/8 '
LB L118010 80 83 92 100 3-5/8 .188




LuBo FEZTUSY
Eye Bolt Inserts

L31 Series

Mark Word "Metric" in
6mm Minimum High Letters

"M24x3.0
Mark"MXX x X.0" .‘—Ilhread Class 6H
in 6mm Minimum
High Letters K Flat

|-—L-|F 3x45 “Chamfer Typ
Sl I IR

I T 1] o
6RT h ‘ i =
I Il [
I 1l
I | Il I
Il 1"
L__k_u
1 1 —
e
mr | Lt
[ =]
T A
PM=2K é -
o =
- -

LB L311672 M16X2.0

LB L312080 M20X2.5 ® 12 8 50 22 50 80 36 18

LB L312288 M22X2.5 0 55 26 54 88 " "

LB L312488 M24X3.0 55 26 54

LB L313000 M30X3.5 = 20 20 0 70 33 70 100 50 25

LB L313612 M36X4.0 22 22 80 39 82 112 60 30
HE

SCM 440
errer® | LuBo NAAMS ZE | @5 o IR

0ofl) LBL312080 oo o
W EAFE M

LuBo Industries, Inc.



H=E§ I == LuBo

Keeper Blocks For Pad

RO1 Series

6mm Li[ M12 Serews

O (= H
Py
: o
L0 PO i Bl [
5 16
. IH “ (2) Holes M10 Tapped Hole .| _E+0,025
#500CS (SM45C+Graphite) g forPullout@)Holes 2y =
* Graphite Plugs S|
This Surface 0| <
H F2 J— M ]
7 f (@@ @\ i ﬂ g
-XZ2 o He B AXi [/T0.025) @ @ S e
(HRC50~) [ T
-2E & 24 3Xxt: £0.25
- Xt2| ¥FE & 24 &k £0.10
- @ZMa|e| Byl : C0.4
- * EA| 220 Graphite 01 Y
LuBo NAAMS IE  HOLES (N) L A B c D E F H
LB RO12507 ) 75 - - 38 51
LB RO12510 100 - - 63 76
25 15 37
LB RO12515 3 150 - 63 113 126
LB RO12520 4 200 63 113 163 176
LB RO13207 75 - - 38 51
2
LB RO13210 100 5 5 63 76
32 15 45
LB RO13215 3 150 - 63 113 126
o LB RO13220 4 200 63 113 163 176
A LB R0O13707 75 - - 38 51
2
T LB RO13710 100 ; ; 63 76
F- 3 37 30 50
LB RO13715 3 150 - 63 113 126
LB R0O13720 4 200 63 113 163 176
LB RO14810 2 100 - - 63 76
LB RO14815 3 150 - 63 113 126
48 30 60
LB R0O14820 . 200 63 113 163 176
LB RO14825 250 83 153 213 226

cpere [ LuBo NAAMS ZE

i %
e %) o) LB R012507

1]

LuBo Industries, Inc.



LuBo

=8 2IM E5

Keeper Blocks For Pad

R0O2 Series

13mm Lip M16 Screws

M10 Tapped Hole
for Pullout (2) Holes
L
9N < o o W
m.#: 17|
eeo O 9e
8 ROom "\ A A A |
49Ref o
fuesecto. o 13
(2) Holes =
* Graphite Plugs S| &
\This Surface 10|
-~ <<
000 i gI g
002)| "9 @ T =
N 4
LuBo NAAMS IE= HOLES (N) L A B C D
LB R023510 2 100 - 65
LB R023512 125 495 : 90
LB R023515 g 150 . 15
LB R023520 4 200 12 165
LB R023522 25 62 05 137 190
LB R023525 5 250 12 162 215
LB R0235 30 300 137 212 265
LB R024010 2 100 2 65
LB R024012 s 125 495 ) - 90
LB R024015 150 15
LB R024020 4 200 12 165
LB R024022 25 62 9.5 137 190
LB R024025 5 250 12 162 215
LB R024030 300 137 212 265
LB R025010 2 100 - 65
LB R025012 125 495 : 90
LB R025015 g 150 - 15
LB R025020 4 200 12 165
LB R025022 25 62 9.5 137 190
LB R025025 5 250 12 162 215
LB R025030 300 137 212 265
LB R025510 2 100 - 65
LB R025512 125 495 : 90
LB R025515 S 150 : 115
LB R025520 4 200 12 165
LB R025522 25 62 %5 137 190
LB R025525 5 250 12 162 215
LB R025530 300 137 212 265
LB R026510 2 100 - 65
LB R026512 125 495 : 920
LB R0O26515 ¢ 150 - 15
LB R026520 4 200 12 165
LB R026522 25 62 9.5 137 190
LB R026525 5 250 12 162 215
LB R0265 30 300 137 212 265
LB R027510 2 100 - 65
LB R027512 125 495 ; 90
LB R027515 g 150 ) 115
LB R027520 4 200 12 165
LB R027522 25 62 %5 137 190
LB R027525 5 250 12 162 215
LB R027530 300 137 212 265
|
c=pr) [ LUBO NAAMS E | E =t

o) LBR023510

[ RUES|
#500CS (SM45C+Graphite)
Fol

- X2 E
(HRC50~)
-gE& A

- XEl wE

e
rlo
]
rﬂ
=l
Bl
E_I
e
Rl
ik

- * EAIREDG
F

174 35 50
199

224

274

74

99

124

174 40 60
199

224

274

74

99

124

174 50 30 70
199

224

274

74

99

124

174 55 35 80
199

224

274

74

99

124

174 65 45 90
199

224

274

74

99

124

174 75 45
199

224

274

25

100

LuBo Industries, Inc. m

oH-c [>of



= x|= LuBo
Cam Gibs

R11 Series
13mm Lip M12 Screws

For M12 Socket Head

Screw (N) Holes “‘_7‘ ’42—5>

° fn
S
I

|

P
‘ ‘
Y (5] | 3 3 (@]
-
L
Og % % 0 0 O
o % % % % %

A
#500CS (SM45C+Graphite)
A |

=o| M10x 1.5Tay
pl For Pullout ™\
Bl (2)Holes
off &% I X 26

-XEHFEH2 EHAFO AL

(HRC50~) 0 °
-2E & 7tH ZR: +0.25 ] e |
- KB REE & A 3t 13 20

212 G6
(2) Holes 55Ref
40+0.025
T T 2
o P ©
=) kg \lo.srR .
EEEE: N ’
“A-
3 //]0.025
1[0.025 |A *Graphite Plug and Surface

Hard en Cross Hatched Areas

E LB R114016 110 123 136 160
=2 LB R114020 88 . . 150 163 176 200
& LB R114025 i - 148 200 213 226 250

LB R114031 145.5 213 265 278 291 315

x_%m\ [LuBo NAAMS ZE

0l) LBR114016

LuBo Industries, Inc.



LuBo x|
Cam Gibs

R12 Series
10mm Lip M16 Screws

For M16 SocketHead (g 30
Screw (N) Holes N‘ ’4—>
| :
D | o o
L)
e @
C | o o
e @
[ N ]
4 ® O
|® @ | RYES|
M10%1.5TAP A Q& #500CS (SM45C+Graphite)
FOR PULLOUT ] &
(2)HOLES ¢ o @ ~
s @ F9|
&5‘8} S .
0 @_7 Y -XZ o ESHe B aFD YHa
s @ e ) (HRC50~)
‘ —wt <10 ) -EE & 72HH Zx: +0.25
5166 -5 LJ" - Xp2l REE 242 ZxH: £0.10
(2)Holes 0, |75Ref
75+0.025
I o
o
0.8,
“A-
B //]0.025
[L]0.025[A] *Graphite Plug and Surface

Hard en Cross Hatched Areas

L
LB R127516 108 128 160 , a
LB R127520 - 84 - 148 164 168 200 -z—
LB R127525 » ; 144 198 214 218 250 =
LB R127531 142 210 263 279 283 315
g%""‘ [LuBo NAAMS ZE

-/ 0fl) LB R127516

LuBo Industries, Inc.



X2 &dlol

LuBo

| Gib Plates

R21 & R22 Series

w 11 9 91 "
] | o |
0 o} o -
w0 || G
] IHQ 0 \ Qf) :::: this Area Only
#500CS (SM45C+Graphite) o U otsDiimmun e
< Floles, fot M16 Socket 1mm Max
Head Cap Screw
m =2
- 2HO 2H aFo FXe stn
Graphite i
-2E &4 33X £0.25
- ¥ e|e MM Gib 20| EE H%
2@ ER=EE E7IS2 6K €S
LuBo NAAMS A= LuBo NAAMS IAE HOLES
Drilled Undrilled w (N) A 8 ¢ P £ F
LB R211020 LB R221020 200 3 100 - - 175
LB R211025 LB R221025 250 4 90 - 160 225
LB R211031 LB R221031 315 90 158 225 290
LB R211035 LB R221035 100 350 5 100 175 250 325 80 59
LB R211040 LB R221040 400 115 200 285 375
LB R211045 LB R221045 450 125 225 325 425
LB R211220 LB R221220 200 100 - - 175
LB R211225 LB R221225 250 90 - 160 225
'I-E\.l LB R211231 LB R221231 125 315 90 158 225 290 105
- LB R211235 LB R221235 350 - 100 175 250 325
T LB R211240 LB R221240 400 115 200 285 375
= LB R211245 LB R221245 450 125 225 325 425
LB R211520 LB R221520 200 100 - - 175 6s
LB R211525 LB R221525 250 90 - 160 225
LB R211531 LB R221531 50 315 90 158 225 290 T
LB R211535 LB R221535 350 . 100 175 250 325
LB R211540 LB R221540 400 115 200 285 375
LB R211545 LB R221545 450 125 225 325 425

E FEH
=

[ LuBo NAAMS ZE

1]

-

LuBo Industries, Inc.

0l) LB R211050, LB R221020




LuBo

glof EYIOIE
Wear Plates

W01, W02 & W03 Series
All Over Except Where Otherwise Stated L
6.3
L~ L i@
G | G | F |
© O o ©
%% °
% % o
[ >4 °
E
ol lo| cle|| 9 o
© | © | © |
old Jf  eddds e g | A
- G:SM45C (23H0o| #H 1Fu}
Pattern A Pattern B Pattern C 2 x{2|)+Graphite
L
- - X:SM45C (23H0 M T Fn}
F | Gxel)
£ @ @ -Y:CAC304+Graphite
o L€
el < o F9
— i \ z | m=zg
o @20 H13 oS :gtternn - e=mo EM DD AHa 51
4 <3 [0 G i o
5R 3R *ﬂ‘re raphite of &
110.021A ‘\T \1 d ;;/05 > -EE &7 Zx: £0.25
TR7N / ih = = xix
= - 2|8 MK Gib S0/ EE &=
T
20-0025 INNREETTE 5R BZoL BE & 7122 01K 48
13.0%838 10R to Blend
T 3x45] 08 Smoothly
=
LuBo NAAMS IAE WIDTH LENGTH A | B | ¢ D E £ SCREW HOLES
G X Y NO PATTERN
LB W015010 LB W025010LB W035010 100 - o M - 60
LB W015015 LB W025015 LB W035015 50 150 25 - 25 - - 110
LB W015020 LB W025020 LB W035020 200 - 40 - - 160 —
LB W018010 LB W028010LB W038010 100 - 20| = - 60 2 A
LB W018015 LB W028015 LB W038015 150 - - - 110 Lk
LB W018020 LB W028020 LB W038020 80 200 20 - 60 - - 160 L
LB W018025 LB W028025 LB W038025 250 - 40 - - 210 T
LB W018031 LB W028031 LB W038031 315 40 - 250 275 3 B =
LB W011050 LB W021050 LB W031050 50 - - 14 27 - 5
LB W011080 LB W021080 LB W031080 80 - - 30 50 - 2
LB W0O11010 LB W021010LB W031010 100 - o M - 60 A
LB WO011015 LB W021015LB W031015 100 150 22 - 78 - - 110
LB W011020 LB W021020 LB W031020 200 - 135 160
LB W011025 LB W021025 LB W031025 250 50 40 - 185 210 & B
LB W011031 LB W021031 LB W031031 315 - 250 275
LB W011280 LB W021280 LB W031280 80 - - 30 50 - D
LB W011210 LB W021210LB W031210 100 - o 60 2 A
LB W011215 LB W021215LB W031215 . 150 ey I o - - 110
LB W011220 LB W021220 LB W031220 200 - - 135 160 g o
LB W011225 LB W021225 LB W031225 250 40 - 185 210
LB W011231 LB W021231 LB W031231 315 - 65 250 275 4 ©
LB WO011610 LB W021610LB W031610 100 - = - 60 2 A
LB W011615 LB W021615LB W031615 150 - - - 110
LB W011620 LB W021620 LB W031620 160 200 30 80 130 - 135 160 & B
LB W011625 LB W021625 LB W031625 250 - 40 o 185 210 4 c
LB WO011631 LB W021631 LB W031631 315 - 250 275
[ LuBo NAAMS 2= A

Ey—1
==

FTEYHY
-

o) LBWO015010

5] -

LuBo Industries, Inc. W



oH-z [>of

& S Ao E/OIE

LuBo

Cam Dwell Wear Plates

Type
L (G)or(Y)

Type (X)

For M-12
SOC. HD. SCR.
(3)Holes

*95 Ref

s

*Theoretical Sharp Corner

W05

W11, W21 & W31 Series

16 DIA.
Tooling Pin

132.83°888
*15R

T+o05

[//T0.02]A

| 1x45° TYP

IH13

14 DIA.

@

@

LB W111210
LB W111212
LB W111216
LB W111510
LB W111512
LB W111516
LB W111710
LB W111712
LB W111716

[ PNES|

- G:SM45C (23Hof ®
- X:SM45C (230l &M

LB W211210
LB W211212
LB W211216
LB W211510
LB W211512
LB W211516
LB W211710
LB W211712
LB W211716

EWDF
__ll_x

- Y :CAC304+Graphite

LB
LB
LB
LB
LB
LB
LB
LB

mxo|
-2EEEUH SX: +0.25
—*EAlgiExd-'?--?—IS gx}:+025
- 15Re| SHEN A &

| LuBo NAAMS £ |

o) LBW111210

LuBo Industries, Inc.

B W311210
w311212
W311216
W311510
W311512
W311516
W311710
W311712
W311716

30

45

60

ot @Xal)+Graphite
Fut FHa|)

125
160
100
125
160
100
125
160

125

170

105
140
80

105
140
80

105
140

70

65



LuBo Qo] AEH
Wear Strips

W51, W53 & W55 Series

@ 25TYR .
e _o0_o0_9o_ 0o o R
.......... Teirfaiiaaiis
v ® e e e e
|
Suggestions for Fastening
Normal procedure is to use plug location for screw hole location
® For 10 Thicknesses m For 12,15,20 Thicknesses W =
Suggest : M6 flathead or socket head Suggest: M10 flathead or socket head .
screw maximum screw maximum #500SP(CAC304+Graphite)

1 T - T j
5e? T -
N e Sint \;,

1 \ ]

LuBo NAAMS I = LuBo NAAMS I = LuBo NAAMS I =
\ T L w T L T L
Y Y Y

LB W511025 25 LB W531025 25 LB W551025 25

LB W511040 40 LB W531040 40 LB W551040 40

LB W511050 50 LB W531050 50 LB W551050 50

LB W511063 63 LB W531063 63 LB W551063 63
LB W511075 75 LB W531075 75 LB W551075 75

LB W511010 100 LB W531010 100 LB W551010 100

LB W511012 125 LB W531012 125 LB W551012 125

LB W511015 150 LB W531015 150 LB W551015 150

LB W511225 25 LB W531225 25 LB W551225 25

LB W511240 40 LB W531240 40 LB W551240 40

LB W511250 50 LB W531250 50 LB W551250 50

LB W511263 63 LB W531263 63 LB W551263 63 .
LB W511275 75 LB W531275 75 LB W551275 75

LB W511210 100 LB W531210 100 LB W551210 100

LB W511212 125 LB W531212 125 LB W551212 125

LB W511215 150 LB W531215 150 LB W551215 150

LB W511525 25 150 | B W531525 25 300 B W551525 o5 &0
LB W511540 40 LB W531540 40 LB W551540 40

LB W511550 50 LB W531550 50 LB W551550 50

LB W511563 63 LB W531563 63 LB W551563 63
LB W511575 75 LB W531575 75 LB W551575 75

LB W511510 100 LB W531510 100 LB W551510 100

LB W511512 125 LB W531512 125 LB W551512 125

LB W511515 150 LB W531515 150 LB W551515 150

LB W512025 25 LB W532025 25 LB W552025 25

LB W512040 40 LB W532040 40 LB W552040 40

LB W512050 50 LB W532050 50 LB W552050 50

LB W512063 63 LB W532063 63 LB W552063 63

LB W512075 75 20 LB W532075 75 20 LB W552075 75 2°
LB W512010 100 LB W532010 100 LB W552010 100

LB W512012 125 LB W532012 125 LB W552012 125

LB W512015 150 LB W532015 150 LB W552015 150

[ LuBo NAAMS R E | m
zEyn
=Y o tswstio2s ﬂ

LuBo Industries, Inc.



Aol 2EH

Wear Strips

A

#500SP(CAC304+Graphite)

LuBo NAAMS A=

Y
LB W571025
LB W571040
LB W571050
LB W571063
LB W571075
LB W571010
LB W571012
LB W571015
LB W571225
LB W571240
LB W571250
LB W571263
LB W571275
LB W571210
LB W571212
LB W571215
LB W571525
LB W571540
LB W571550
LB W571563
LB W571575
LB W571510
LB W571512
LB W571515
LB W572025
LB W572040
LB W572050
LB W572063
LB W572075
LB W572010
LB W572012
LB W572015

25
40
50
63
75
100
125
150
25
40
50
63
75
100
125
150
25
40
50
63
75
100
125
150
25
40
50
63
75
100
125
150

W57, W59 Series

25TYP,
> T
...O....‘.
...O...O..
W ( } ( J ( ] o ( }

Suggestions for Fastening
Normal procedure is to use plug location for screw hole location

® For 10 Thicknesses

Suggest : M6 flathead or socket head
screw maximum

m For12,15,20 Thicknesses
Suggest : M10 flathead or socket head
screw maximum

| | | —_
= e J‘\ { | 5 7} ‘.Lm:,ﬂjl i (
LuBo NAAMS A=

T L v w T L
LB W591025 25
LB W591040 40
LB W591050 50
LB W591063 63

e LB W591075 75 10
LB W591010 100
LB W591012 125
LB W591015 150
LB W591225 25
LB W591240 40
LB W591250 50
LB W591263 63

12 LB W591275 75 e
LB W591210 100
LB W591212 125

1000 LB W591215 150 1200

LB W591525 25
LB W591540 40
LB W591550 50
LB W591563 63

i LB W591575 75 15
LB W591510 100
LB W591512 125
LB W591515 150
LB W592025 25
LB W592040 40
LB W592050 50

2 LB W592063 63 -
LB W592075 75
LB W592010 100
LB W592012 125
LB W592015 150

=

[ LuBo NAAMS RE |

LuBo Industries, Inc.

FEYH
-/ o) LBW571025

s 559




	NAAMS부품
	가이드블럭
	코너가이드블럭
	75mmU블럭,75mmV블럭
	125mmU블럭,125mmV블럭
	센터키가이드,센터키
	가이드포스트핀
	가이드부싱,패드부싱
	부싱토우클램프
	금형리프트핀,금형리프트핀용주조라이너
	주물주입부싱
	패드용키퍼블럭
	캠지브


